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Instructions to the candidates:
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Answer any three questions from each section.

Answers to the two sections should be written in separate books.
Neat diagrams must be drawn wherever necessary.

Figures to the right indicate full marks.

Assume suitable data, if necessary. -

SECTION - 1

Explain with suitable example the use of intermediate code in two pass
assembler. [8]
In an assembly language program, certain action is required at ‘n’ places
in the program. Under what condxtlon would you code this action as
macro or subroutine. : : o , i8]

OR

What are the different databases that are used for the design of PASS -I
of atwo pass assembler? Give the format for each one of these databases.

d ' ‘ (8]
What feature of assembly language makes it mandatory to design a two
pass assembler? Explain with suitable example. S [6]
Enlist the components of system software. T - 12]

With respect to loader functions state whether the following statements
are TRUE or FALSE. : [4]

1) In absolute loader Relocation is done by assembler.

ii) . In absolute loader linking is done by programmer.

i) In compile-and-go loader allocation is done by assembler.

iv) In compile-and-go loader loading is done by loader.

Explain the difference between .EXE & DLL file. [4]
Write a note on MS-DOS linker. : , [8]
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OR

Explain difference between a callback function and a normal function.[4]
Compare Compile & go loader and Absolute loader. [4]
Comment on the statement “Direct linking loader is a general re-locatable
loader” v [4]
What is the use of overlay structure? [4]
Explain the purpose of various phases of compiler. Clearly mention the
required input and output generated by each of these phases. 18]
Define:
)  Bootstrap Compiler
i)  Cross-compiler [4]
With respect to compiler explain the concept of Front end and Back
end. [6]
OR '

Differentiate between a pass and a phase. [2]
Compare Top-down and Bottom-up parser. ' [6]
Consider following program-

main( )

{

mt a,b,c.d;

char ¢;

a=b+10;

d=a+tb;

}
Write down output of the Lexical Analyzer for above program. Explain
which tables are used(built-in and generated). Show contents of each
table. - ‘ (16}

SECTION - II
What is an operating system? What are the basic functions of an operating
system? {8
Write an algorithm/pseundo € code for “FIRST COME FIRST SERVE”
job scheduling method. 8§
~ OR
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Define the essential properties of the following operating systems:
i) Batch 11) Time sharing iii) Real Time [6]
What are system calls? What are the benefits of using system calls? [4]

What do you understand by the term “process™? What is the difference
between a process and a program? [6]

Why is that on a system with paging, a process cannot access memory it
does not own? How could the operating system allow access to other

memory? Why should it or should it not? [6]
Explain the Best-fit algorithm used for memory allocation. What are the
advantages and disadvantages of this algorithm? [10]
OR .
Explain contiguous memory allocation scheme. What are its advantages
and disadvantages? [8]
Write a short note on : Demand paging. . [8]
Explain /O buffering. = 8]
Explain C-SCAN scheduling algorithm. What are the advantages and
disadvantages of this algorithm? _ [10]
OR =
What is an /O buffer? What is its use? ik [4]

Normally the free space list is implemented as a bit vector. Discuss the
merits and demerits of same. ] : [6]

Wirite an algorithm for disk scheduling Lising ;‘Shor’test service time First”
method. , v . ek ' (8]
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